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1. HEHSF 500m

JIERT K 4 G PEAE R i =
1 B ez JREHA 0:44.98 CR
2 Kb oR SRR — ITT 0:47.01
3 BN Ht A FE AT ) 0:47.12
4 PN JRIEHA 0:47.73

1—2. —f#& 5B+ 500m

JIERT K 4 G PEAE R i =
1 /N BT )1 0:59.74

2. INERGEEF 500m

JIER K4 G PEAE R i =
1 Bk Rk A N 6 0:50.92
2 B RS BH B /N2 6 0:52.43

3. /INERBEEF 500m

JIERE K 4 - PEAE I i =
1 FE[E] #hE FEN /N 5 0:54.65
2 e E— DI IENES 5 0:56.39
3 B Bt A INFRE 5 0:57.58
4 HHE ¥ESL B/ N 5 1:01.23

4. /NERAEBF 500m

JIE K 4 G PEAE = i =
N X 7 v - B HIINFRE 4 0:54.80



5. INER3EBF 500m

JIERT K 4 G PEAE I i =
1 EREC TG A IINFRE 3 0:57.13
2 kg B N 3 1:00.00
3 BHh mA %%/J\%& 3 1:01.91
4 BIFF B é\#/b‘?& 3 1:03.29
5 kb R A N 3 1:04.30
6 HH KAk A N 3 1:28.54
T BE B e INE S 3 1:31.17
8 K Hx AN 3 1:41.91
9 ®WE B HINFRE 3 2:11.10
B A B HINFERE 3 DNS
6. NFER2EEF 500m
JIERT K 4 G PEAE R i =
1 ] BA FEN /N 2 1:10.81
7. NER1IEEF 500m
JIER K 4 G PEAR I i =
1 /N 7Nz 1 1:06.68 CR
2 IE/K IKE B HIINFRE 1 2:08.12
8. FE#&K 4+ 500m
JIERT K 4 G PEAE I i =
1 Bk EE DA 2 0:46.88
2 A Hhk ZND RSy 2 0:47.17
3 kg BEXR Z DRSSy 2 DNS
9. /INER6FE LT 500m
IR K 4 G PEAE 4 i =
1 kiEEHET A H N 6 0:50.01
10. /NERSFE L+ 500m
IR K 4 B PEAE = i =
1 kg B B H N 5 0:50.09
2 FEW T AN 5 1:07.35
3 BRIl XXCFEF B H N 5 1:26.47
11. /NER3FE &L+ 500m
JIE K 4 G SRR 4 i =
1 kg EH4 B H N 3 0:59.47



12. /MER1FELF 500m

JIERT K 4 G PEAE I i =
1 kg =245 AN 3 59.39
2w Em A /N 3 1:18.68
3 mHE ZEY YRR INFRE 3 1:30.40
13. XyPFANEF 500m
JIERT K 4 G PEAE R i =
1 Bk ReA] HHH /N 5 0:50.35
g E% ‘I%é.l_ EHE/J%BE 6 0:53.01
L owE B BREE 3 Loies
5 EHAR K LNIIVANES 4 1:13.10
6 HRTHRARR gl H /N 4 1:15.88
T G KA LNIIANES 2 1:17.71
14. Ry T AM&EF 500m
JIER K 4 G PEAE I i =
1 HHZTIL g H /N 6 0:47.65
2 Pk ek LNIIVANES 5 0:48.01
3 Atk AR g H /N 6 0:49.28
4 W I KT /N 6 0:49.92
5 SRR NIIVNE= 5 0:51.90
6  HEE M LNIINES 4 0:53.35
7T HEH B KBTI/ N 6 0:55.15
8 kfg Hip EINSINES 4 1:01.20
9 ik RH gl H /N 2 1:02.97
10 ¥H %2 NI WANE 4 1:07.03
11 R SEERE gl H /NS 2 1:09.81
12 BEHEFEHSH gl B /N 2 1:14.65
LHaA CNSWINES 6 DNS
15. %12 100m
IR K 4 G PEAE =4 i =
1 fFE R A FHRE = 0:51.97
16. F2EK B+ 1500m
[ AN I ¢ G SRR = i =
1 #H &g B Rk iR 2 2:26.82
17. FEKZF 1500m
JIE K 4 B PEAE = i =
1 Ef& 2 NP AR Y 2 2:27.49
A R A 2 2:33.68
3 EHUORE R fE PR 2 2:33.89



18. HEHF 1000m

JIERT K 4 G PEAE I i =
1 B wz JREHA 1:31.90 CR
= o) N = R AR 1:34.44

3 kL 5R LS WA — ITT 1:35.40

4 M JRIHA 1:37.59

18—2. —f&%B+ 1000m

JIERT K 4 G PEAE R i =
1 /NE BT 1 1:55.99

19. /NMER6EFF 1000m

JIERT K 4 G PEAE R i =
1 Bk Rk A N 6 1:45.85

2 B E BH B /NS 6 1:51.71

20. /INERSEFF 1000m

JIER K 4 P B PEAR I i =
1 R FEN/INEAR 5 1:54.16

2 e E— DI IENES 5 2:00.04

3 B Bt B HINFRE 5 2:00.27

4 HHE ¥ESL B /N 5 2:10.44

21. /INERAEFF 1000m

JIERE K 4 G PEAE R i =
JIN X oV - A HIINFRE 4 1:53.64

22. INERBSEFF 1000m

IR K4 . SR =4 i =
1 RN A A H N 3 2:02.49

2 kg B B FH N 3 2:08.40

3 M &4 BH B /N2 3 2:11.07

4 Kb JREE /a\#/J\%&*‘ 3 2:11.47

5 B B B FH N 3 2:15.31

23. /INER6FE LT 1000m

JIE K 4 B SRR = i =
1 EfkEBT B H IR 6 1:40.32



24. INERS5E LT 1000m

JIERT K 4 G PEAE I i =
I B HKR AN 5 1:42.46 CR
1 EEH L N 5 2:16.10
25. INER3FE LT 1000m
JIERT K 4 G PEAE R i =
1 kg EHA BN 3 1:56.67
26. Ny T AMEF 1000m
JIERT K 4 G PEAE R i =
1 Bk ReA] g H /N 5 1:45.57
g ﬁ% ‘I%é.l_ EE/J\%& 6 1:50.41
& e EPINEY 4 :06.
5 HrH = gl H /N 3 2:20.81
6 HRTHRARR gl H /N 4 2:45.37
T G KA LNIIVANES 2 2:45.56
27. NXyTTAMLF 1000m
IR K 4 G PEAE R i =
T LS IR 5 1:37.71
2 FrHIINL gl H /N 6 1:41.05
3 Wl M KT BN g 6 1:42.69
4 FE R NIIVNE= 5 1:51.91
5  FEE M NIIANESE 4 1:52.41
6 HEH A KBTI/ N 6 1:57.53
T B B CERSMINER 4 2:05.62
8 N K B /N ) 2:10.85
9 HIH ®Jh KBTI/ N 4 2:20.81
10 "R SEERE FNSWINES 2 2:24.58
11 BEHEFEHSH FNSWINES 2 2:39.21
12 LH=UA FNSWINES 6 DNS
13 A e FNSWINES 6 DNS
28. HERKF T 1000m
A= G SRR i i =
1 #H &g B Rk iR 2 1:35.95 CR



29. HEA£ 41 1000m

JIERT K 4 G PEAE I i =
1 Bk S DR 2 1:33.90
2 kg 1HE PR AR 2 1:34.14
3 i EER 2N A= 2 1:34.21
4 R B2 2 1:36.52

30. /NER2EFF 400m

JIERT K 4 - PEAE R i =
1 HEE BA FEN/INEAR 2 1:02.39

31. /INER1EFF 400m

JIERT K 4 G PEAE R i =
1 /N ERDIIRANE= 3 1 0:52.68 CR
2 /K IKHE B H N 1 1:28.81

32. /INER1E LT 400m

JIER K 4 . PEAR I i =
1 RN HiE A IR 1 1:08.04
2 R EWL A N 1 1:08.64
3 ®RE WM A N 1 1:33.37
4 B Kb A H N 1 1:40.18
5 IR DI IENES 1 1:55.62

33. —f#&%BE+ 2000mR

JIERE K4 PEAR R i =
1 JREHAS IS 3:10.53
2 AIAT—NITTA 4:08.91
3 AIART—NTTB 4:59.73

g H - 1) EE) 4:16.28 F—7

34. —fi%%&+ 2000mR

JIE K4 PEAE = i =
1 SHARr—NT77 5:40.13

35. FE&K 4L+ 2000mR

JIE e K PEAE = i =
1 PRSI EAR 3:15.59 CR



36. /NERFBF 2000mR

I K 4 SR o =
1 SHIFERA 3:46.66
2 FAAKRA 3:47.21
3 AH/IFEKRB 5:14.10
4 SHINFERC 6:40.24
FAZKB 4:22.38 F =7
36. /NER BT 2000mR
I K 4 SRR i bk =
1 SHPFERA 3:43.59
2 SHINFEKB 6:48.40



